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corr_us_avg_bpm4eX (ppb)
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corr_us_av

o n
< (92]

(wdd) sny

o
(92]

Lo
N

(@]
N

Lo]
—

o
—

Te}

7'09SY
€095y
2'09SY
T'09sY
0'09SY
7’655y
€695y
2’655y
T'69SY
0'65SY
£'8395Y
2’855y
T84Sy
085Sy
V' LSSy
€8Sy
LSSy
T'.9Sy
0°LSSY
G'9GGY
'98SYy
€986y
2’985y
T'99SY
0985y
ogeieisig
2’985y
T'99SY
0955y
V'vasy
€vasSy
2'vssy
T'vssy
0'vSSYy
7'€SSY
€'€Ssy
[A=ici4
T'essy
0'€sSy
v'essy
oacicig
¢'essy
T'essy
0¢ssy
asid
€TSSy
¢TSSy
T'18SY
0'TSSY
¥7'0SSY
€055y
2¢'0SSy
T'0SSY
0°0SSY



g & g % 2 g
c o 2 3 + + -
H + ° 2 ~ o -
m S o 5] =]
= .
> m 3 € -1
c|ls 8 ¥ 5 ¥ & s ¢ -
§|f 8 5 5§ = 58 £ ¢ ]
= ]
5 ]
b -
= -
- I ]
0 ) 1
kel I ]
— [
S ]
2 ]
o .
i .
L L PRI T T S N N S T | M T R
o [Te) o [Te] o n o
[32) ~N N i —
I @ —
° _
[sp )] P _
L o —
~ - . —
mn/_ ° |
o 1 ° H
o N _
S . .
) ———— —
5 -
| °- —
“— - _
© 1 o _
n A d
~ =
alvo -
o> Q| m
O | T
N -
s =l ]
© d 1
M _
o i
b_ * ]
2 - .
a_ —
n _
>, o ]
o _
S p—
(@]
o _
. p—
— ———————— —_
° _
S PO .
_____;Irl‘l‘l‘lrl‘..l‘lﬁl‘l‘l‘lﬁl____________._u
o o o o o o o O<TNON SO
R i S % % % 30oc oooco




g_bpm4aX RMS (ppm)
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g_bpm4aY RMS (ppm)

corr_us_av
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corr_us_avg_bpm1X (ppb) 1D pull distribution
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corr_us_dd_bpm1X (ppb) 1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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corr_usl_bpm1X (ppb) 1D pull distribution
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corr_usr_bpmd4eX (ppb) 1D pull distribution
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pm12Y RMS (ppm)
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